§{WP\¢ 'L/\MJCSi

T=Prt
Takevest = Principal = Rake x 'T"?,\Q
P«rm velig ko
FN TR+
e pV Pa et
fve P( v (k)

ex: Whet s J{H SGM‘D‘( m‘\U(S-f M A 3‘[0 000 \oon
ajf[”‘?o intresd b 120 dw»]s

051 LT ?r‘t
1= 340000 05, 369
L Kart 1 ”ﬂ
340000% .0S| ¥ 120 /365 et
1-75900.42

g
Ab At ead of 120 dugs We pugy bick 345,700.32

X! \7.'/\0\ the futuce valwe of & g‘&ﬂSO lsan ot
9.5 pad back in 278 ijg,

FV= P(l+rt)
= gq50 (1 + 095 55¢)




m ealoulabr 395D (1 + .095% 278 /365 ) enter
FV = #9597.59

" FV - P(I+ r‘l')
g aos= P (14-0575-33 )
\:\{:Moo ——
{j: 1!3(9)7 wmos = l'lz =-'3—7{ Yo
(=575 1900 = P- 11445416 ¢7
P HI65H 2T

O | +.0575% 3112 enter
? WOO/ANS onter

ox: Avukr)L T)m‘lo, Bilance

Finance C,!/«wta,c

626= 1/25

Previons %alaw‘: 4 7,036.'-10

Ava‘ ]Zﬁ"-( E. ,3‘70
()11 Dot 1500
7/L] F{rcum,(s ﬂ?ﬁ
7//‘;’ Dinner ”2/3,63




6126
6/27-1/3
74 -7l14

7hs = P25

7 Awnss

Avs Aw.L) belanee
F.’Mv\a awy:

ot gh owts ? of day

7036.40 {

_-500,00

(536,40 % ]
+ 91

6635.40 x [
+213,53

3

)

69434493 « Il

eenEE———

30

g_/»___/

T )

201119.8 <30 = ¥6703.96
Tnest = 6703.96 - 019 - 32

- 49919

s

/_\)\_/—\
2036.40 + 6536.40 +.._ +6536.40 + £635 Yo+ ___ 1663590 FEBYS 53+ 46848
\_/——\f'\-/

703¢6. 40
= HY575Y.30
72999.40

75339.23
ZoI)l |9.9

— — T

U hnes

365

93






